Hi . 53 HxE Pk

12 # R

S = - iy = 7.
HERLLFBEY S 20 20 25 25

*H R 6 6 5 5

T || AAFE/ATAAER 1 1 1 1

EHE 0 0 1 1

- #5(4) 4 4 4 4

. i€ (241) 3 3

B pAFER) 3 3

ENia 6 6

) £ 57(3) 3 3

FEER(2) 2 2

EEEMT(3) 3 3 3 3

FRFEEEEY &) 20 20 25 25
BRI YA 2-4 2-4 3-6 3-6

2 PR T B 2.8 2.8 2.8 2.8

.y 5 Ak B E 8 F A AR 1 1

it %] FAR D KA B AR 0 0
B GRS - ERATER) 0.2 0.2 0.2 0.2

FRF B s k() 3 3 4 4
gy HERTE K 22-24 22-24 28-31 28-31

ER 2 g
B e R S 23 23 29 29




()7 ~ = EB LR
L S i X

/AR EEMEE Y AR L S - T4 (£ 3-2)

E3CN . ‘

gy A : i
HEALTLBEY Sk 27 27

B B~ 3 5

" £ AT 1 1
" 2 2

we 4 4

AN Ui ; el & ;
(6) Bk B 3 3
Fojirer A 2 3 3

FEEE 3 3

ey Wl | e 3 3
ERFEAETY a8()) 27 27
HERTAEABEY Sk 27 27
B3 i a5k (B) 5 5

R R GEEE Y &8k 3-6 3-6
EFY EEERES 3 30-33 30-33

(A+B) BREESEK 32 32




